Vedic Mathematics, Science & Technology

FOUNDATION COURSE

Week — 20 Self referral state

Chase step 58 Artifice 6
Chase step 59 Hyper sphere 6
Chase step 60 Self referral format

Introductory

1. To chase of ‘pure values reach’, started with the reach of ‘pulses’. It takes us
to ‘self referral format’ as NVF (impulses) = NVF (sleep, sleep)

2. NVF (Format) = NVF (old) + NVF (new)

3. NVF (format) = NVF (old) + NVF (self)

= NVF (old self)

4. NVF (Renewing) = 95 = NVF (Sleep fire)

5. One may have a pause here and take note that the ‘sleep fire’ is of renewing
features.

6. Further it also would be relevant to note that NVF (Sleep) = NVF (Fires).

7. One may have a pause here and take note that ‘sleep’ as ‘fires’ takes us to
‘sleep’ as ‘ions’

8. One may further have a pause here and take note that the surfacing of ‘ions’
during ‘sleep’ shall be leading us to ‘sleep fires’.

9. Further it also would be relevant to note that NVF (Monad) + NVF (Monad)
= NVF (Trimonad).

10.1t is this feature of pairing of monads leading to trimonad, which deserves to
be chased as ‘self referral format’ manifesting because of sleep, sleep states,
which ultimately lead to pairing of ‘space, space’.

11.0ne may have a pause here and take note that NVF (Sleep) = NVF (space
age).

12.Still further as that NVF (sleep, sleep) = NVF (space age, space age) = NVF
(volumme god) = NVF (impulses)

13.Still further, it also would be relevant to note that NVF (Self referral format)
= NVF (Transcendence formats) = NVF (Tree transcendence area) = NVF
(Transcendental tree).

14.0ne may further have a pause here and take note that NVF (hyper sphere —
7) = NVF (Transcendental)

15.Further as that NVF (Transcendental sphere — 6) = 149 = NVF (Axes
Discipline) = NVF (inter-connected).



16.1t is this phenomenon of inter-connected Discipline axes, which deserves to

be chased.

Chase step 58 Acrtifice 6

Amongst others, the prominent features of artifice 6 is that it is parallel to
the dimensional synthesis value of synthesis of triple dimensions of any
order

The synthesis of pair of dimensions of order n, namely n, n synthesizes (n-2)
values has the domain value

The synthesis of triple dimension of order n, namely n, n, n comes to be
(n+2) +n-2(n-2) =6

It is this feature of dimensional synthesis that triple dimension of any order
always lead to value 6 which makes artifice 6 itself being the self referral
artifice

Acrtifice 6 permit organizationas 6 =1 + 1 + 1 +1 +1+1 an affine self referral
range of six steps

It would be relevant to note that 6 =3 + 3

This feature as such would further help us comprehend, appreciate and to
imbibe the values of self referral artifice — 6 as that 6-space plays the role of
origin of manifestation layer (3, 4, 5, 6) and further as that 6-space also plays
the role of origin of manifestation layer (6, 7, 8, 9).

One may have a pause here and take note that 9 = 3 x 3. The pair of
organizations (3 + 3), 3 x 3 and parallel pair of roles of 6-space as origin
fold as of origin fold and also as of dimension fold will enrich our insight
One may further have a pause here and take note that a three dimensional
frame permit split into a pair of three dimensional frames of half dimensions
within creator’s space (4-space of spatial order).

10.0ne may further have a pause and take note that NVF (hyper sphere -6 ) =

No bk wh e

149 = NVF (Axes Discipline) = NVF (Discipline Axis)

*

Chase step 59 Hyper sphere 6

NVF (Hyper sphere — 1) = 144 = NVF (formulation)
NVF (hyper sphere — 2) = 145 = NVF (Structure)
NVF (hyper sphere-3) = 146 = NVF (Manifestation)
NVF (Hyper sphere —4) = 147 = NVF (Computation)
NVF (Hyper sphere — 5) = 148 = NVF (Scriptures)
NVF (Hyper sphere — 6) = 149 = NVF (Interconnected)
NVF (Hyper sphere — 7) = 150 = NV (Transcendental)
= NVF (Self referral area)
One may have a pause here and permit the transcending mind to glimpse the
format and features of the unity range of formulations (formulation,
structure, manifestation, computation, scriptures, inter connected,
Transcendental / self referral area).



9. NVF (Self referral format) = NVF (Self referral area tree)

10.0ne may have a pause here and permit the transcending mind to be face to
face with ‘self referral area tree’.

11.NVF (Earth Tree) = NVF (Discipline)

12.NVF (Artifices pair) / (52, 25) is a self reflecting pair of artifices with
summation value 77 = NVF (Matter)

13.Here it would be relevant to note that NVF (Matter) = 77 is parallel to the
self reflecting artifice ‘77°, as much as that ‘artifice 7’ marks its presence at
both places.

14.1t is this feature of artifices pair (52, 25) that their summation value (77) as
well is a self reflecting artifice

15.Scripture preserve the universe of Trees with roots upwards

16.The existence on the surfaces of both hemispheres on earth as well has
manifestation of this feature when viewed from the other hemisphere

17.The reflection features as well has its manifestation, the split of a three
dimensional frame into a pair of three dimension frame of half dimensions
as well has a manifestation of this feature

18.The permissibility of super imposition of pair of orientations and parallel to
it, super imposition of dimension fold upon domain fold of hyper cube 1 as
well has a manifestation of this feature. The expression 28 =3 + 5 + (3 X
5)as well has a manifestation of this feature, as being one of the features of
this organization for artifice 28, which happens to be second perfect number.
6 =2 x 3 =(-2) x (-3), as well has the manifestation of this feature.

1. It would be a blissful exercise to permit the transcending mind to
continuously remained in prolonged sitting of trans and glimpse the feature
of self referral format of:

l. Pair of segments of human brain

Il.  Pair of hemispheres set up of Earth

. 0+0=0=0x0=(-0)x (-0)

V. Pair of orientation of an interval

V.  Pairing of object and image

VI. Reflecting pair of artifices of double digit numbers of ten place value
system namely (01, 10), (02, 20), ---- .

VII. Double digit self reflecting artifices ranges (11, 22, 33, 44) and (55,

66, 77, 88, 99)
VI 2+2=2x2=(-2) x(-2)
IX. 2%=4?

X. (2539



